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1 Economics PGT(LDCE)(1 to 120)

1.  Which of the following is/are correct ?

(A)
(B)

(1
(2
3
4

~— — ' “—

A good which is meant for final use and does not pass through any more stages of
production is called a final good.

It is not in the nature of the good but in the economic nature of its use that a good
becomes a final good.

Only (A) is correct

Only (B) is correct

Both (A) and (B) are correct
Both (A) and (B) are incorrect

2. Which of the following is/are correct ?

(A)

Flows are defined over a period of time whereas stocks are defined at a particular
point of time.

(B) However, a change in stock can be measured over a period of time.
(1) Both (A) and (B) are correct
(2) Both (A) and (B) are incorrect
(3) Only (A) is correct
(4) Only (B) is correct
3.  Which of the following statements is/are correcfre ing net investment ?
(A) Itis the difference between gross investme d indirect tax
(B) Itis the difference between gross im@eflt and depreciation
(1) Only (A) is correct
(2) Both (A) and (B) are correc
(3)  Only (B) is correct {
(4) Both (A) and (B g@
4.  Which of the follow;j correct regarding depreciation ?
(A) Depreciation affnual allowance for wear and tear of a capital good.
(B) It does not take tto account unexpected or sudden destruction of capital good due
to accident or natural calamities.
(1) Only (A) is correct
(2)  Only (B) is correct
(3) Both (A) and (B) are correct
(4) Both (A) and (B) are incorrect
5.  Which of the following statements is/are correct ?
(A) Ineconomics, the stock of unsold finished or semi-finished goods which a firm carries
from one year to the next is called inventory.
(B) Change in inventories is a flow concept as it is the difference between the production
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and sale of a firm during the year.

Both (A
Both (A

) and (B) are correct
) and (B) are incorrect
Only (A) is correct

(
Only (B) is correct
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6.

10.

11.

If the Required Reserve Ratio is 20% and a bank’s initial deposit is Rs. 200, what will be
the value of Money Multiplier ?

1 2
2) 25
(3) 4
4 5

Which of the following controls the extent of Money supply in Indian economy ?
(1) Commercial Banks

(2) Insurance Companies
(3) Government of India
(4) Reserve Bank of India

In Liquidity trap situation :
(1)
2)  The Speculative demand for Money is infinitely elastic
)
)

The Rate of interest is zero
The Rate of interest is Maximum @

Given the consumption function C=a+bY, b st

The Speculative demand for Money is inelastic

W

(
(
(4

(1) Marginal Propensity to consume

2) Marginal Propensity to save @ 4

(

(3) Marginal Propensity to invest

(4) Both (1) and (3) o @

The diagram below represen &ibrium in a two sector economy :

X N

AE

AD and AS

45°

X

GDP

Which of the following is the slope of AE Curve ?
(1) Rate of interest

(2) Marginal Propensity to Consume (MPC)

(3) 1-MPC

(4) Money Multiplier

If consumption function is given as C=100+0.7 Yd, Investment I=200 crore, and Tax
t=0.2Y. The value of investment Multiplier will be :

(1)  Zero (0)

(2) One (1)

(3) More than two (> 2)
(4) Less than two (< 2)
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12. The government expenditure and revenue which creat Assets or Liabilities of the
government are put into :

(1) Revenue account

(2) Current account

(3) Capital account

(4) Miscellenious account

13. Distinction between value in use and value in exchange through the famous example of
diamonds and water was Made by :

(1) Karl Marx

(2) Adam Smith
(3) David Ricardo
(4) Alfred Marshall

14. Predatory pricing policy is designed to :
(1) Encourage new entrants into the Market

(2) Attain least cost output
(3)  Drive competitors out of the business
(4) Maximize profit
15. A competitive industry whose long run supply @ is horizontal is known as :
(1) Increasing cost industry *
(2) Constant cost industry @
(3)  Decreasing cost industry @
(4) Inefficient industry \

16. In case of both Monopoly @wpolistic compelition; which of the following is true in
the short run ?

(1) Price is equal cost

(2) Price is equa ar¥inal revenue

(8)  Price is equal to Marginal cost

(4) Price is greater than Marginal revenue
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17.

18.

19.

20.

21.

In the diagram below, due to change in price, the Budget line shifts from AB to AB” and
the consumer’s equilibrium shifts from point S to point R. Then what is true for good X.

Y

A

- R

o

o)

o)

© S

O B B X

Good X

(1) Xis an inferior good
(2) Xis a normal good
(3) Xis a giffen good
(4) Xis a neutral good

(1)  Price of substitute good

Engel curve establishes the relationship between dema&a commodity and :
(2) Price of complementary good 0
(3) Income of the consumer 0
(
*

4) Its own Price

If value of cross elasticity of demand j Qle commodities are :
(1) Not related to each other ¢
2) Giffen

( »&\
(3) Complementary
(4) Substitute \Q

As an operation ;br determination of equilibrium in oligopoly Market.
‘Kinked-Demand Culy€” was introduced by’:

(1) Adam Smith
(2) Paul Sweezy
(3) David Ricardo
(4) A. Cournot

In case of a rectangular hyperbola demand curve; what will be the value of price
elasticity ?

(1) Equal to infinity
()
(3) Equal to one
4)

Equal to zero

None of the above
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22.

23.

24.

25.

26.

27.

Economics PGT(LDCE)(1 to 120)
The Marginal cost curve is also the short-run supply curve of a firm in :

(1) Monopoly Market

(2) Oligopoly Market

(3) Duopoly Market

(4) Perfectly Competitive Market

If X is a normal commodity and Y is a neutral commodity; what will be the shape of
indifference curve ?

(1) Convex to the origin

(2) Straight line parallel to X axis
(3)  Straight line parallel to Y axis
(4) L shaped

Match List - I and List - IT and Choose the correct answer using the codes below :

List - I List - II
(A) Perfect competition (i)  Absence of supply curve
(B) Monopoly (i) Interdependgmce among firms
(C) Monopolistic competition (iii Underuti'@h of capacity
(D) Oligopoly (iv) Abse arket power
Codes : r@
(1) (A)-Gv), (B)-), (C)(ii), (D)-() ()
(2)  (A)-(v), (B)-(), (O)-(iid), (D)-(id) Q) ¢
() (A)-(v), (B)-(iid), (©)-(), (D)-(ii)
4 (A)-@v), (B)-(), (O)-(ii), (D)- H\@

What will be effect of price
ceiling price ? \
d

A parallel shift of demand curve indicates :

in a Market if equilibrium price is greater than the

(1) Excess demand
(2)  Excess supply,
(3) Shortage of

(4) None of the abo

(1) Increase in price

(2) Decrease in price

(3) Price remains constant

(4) There will be excess supply

According to Law of Variable proportions, the shape of Marginal Product Curve will
be :

(1) U shaped

(2) Inverse U shaped

(3) Downward slopping
(4) Upward slopping
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28.

29.

30.

31.

32.

33.

34.

When a proportional increase in all inputs results in an increase in output by the same
proportion; the production function is said to display :

(1) Constant returns to scale

(2) Constant returns to a factor
(38) Increasing returns to scale
(4) Decreasing returns to scale

In the short run, the Marginal cost is equal to Average cost and Average Variable Cost
when :

(1) Average Cost is Maximum

(2) Average Cost and Average Variable Cost is Minimum
(3) Average Variable Cost is Maximum

(4) Both (1) and (3)

The Minimum point of the Long Run Average Cost (LRAC) curve implies :
(1) Increasing returns to scale
2) Decreasing returns to scale

(2)
(3) Constant returns to scale
(4) Economies of scale 0
A rising Short-run Average Cost (SAC) curve impliés :
1) SMC is less than SAC ®
2) SMC is equal to SAC @

)

)

SMC is greater than SAC
SMC does not influence S‘b

When income effect of a r@\ange will be greater than the substitution effect; the
demand for the good wij ed to its price :

(1) Negatively

(2) Positively Q
(38) Proportionaly

(4) Unrelated

Which of the following is not a mathematical average ?
(1) Geometric Mean

(2) Median

(3) Arithematic Mean

(4) Weighted Arithematic Mean

Measures of central tendency are called average of :
(1) Third order

(2) Second order

(3)  First order

(4) Both (1) and (2)
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35. Which of the following is not an example of Positive Correlation ?
(1) Heights and Weights
(2) Price and demand of a Commodity
(3) Family income and expenditure on luxury goods
(4) Price and supply of a commodity

36. The correct formula of Karl Pearson’s coefficient of correlation on ungrouped data is :

1) y= Y
x+y

@ y-_29

N(x + y)
O R

N. oxoy
4) yo_ TV

“N(x-) (Q
37. Index numbers are used to : 0

(A) Measure the changes in price level over a peridd of time

(B) Measure the degree of freedom of a yasiable
(C) Reduce complex forms of measur % simple numbers
(D) For the purpose of forecasting &

Choose the correct answer fro

(1) (A)and (B
B (4 B © ’\Q
(3) (), (C) and (D) (:‘b
4 (A, (© and ‘Q
38. Which of the following is not a type of index numbers ?
(1) Fixed index numbers
2)  Price index numbers

(
(3) Value index numbers
(4) Quality index numbers
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The choice between primary and secondary data by an investigator depends on :

39.

40.

41.

42.

(
(
(
(

A) Nature and scope of the enquiry
B) Availability of financial resources
C) Availability of time

D) Degree of accuracy desired

Choose the correct answer from the given options below :

(

1) Only (A) and (B)

2) Only (A) and (C)

3) Only (B), (C) and (D)
4) All (A), (B), (C) and (D)

Which of the following is/are the methods of collecting primary data ?

(
(
(
(

(

A) Direct personal interviews

B) Information from correspondents

C) Mailed questionnaire Method

D) Schedules sent through enumerators

Choose the correct answer from below : @
1)  Only (A), (C) and (D) 0

(2) Only (A) and (B)
(3) All of the above
(4)

only (A) and (D) Q) ¢

Match List - I and List - IT and Cho@won‘ect answer from the codes given below :

List-1 List - IT

(Types of classificatioQ&ta) (Criteria)

(A) Geographical \ (i)  According to some attributes
(B) Chronological (i) On the basis of time
(C©) Qualitative (i) In terms of magnitudes
(D) QuantitativeQ (iv) Areawise

Codes :

(1) (A)-(v), (B)-Gi), (O-(), (D)-ii)

() (A)-(v), (B)-Gi), (O-(iii), (D)-()

(3)  (A-Gv), (B)-(), (C)-(i), (D)-(ii)

() (A)-v), (B)ii), (O)-(ii), (D)-()

A frequency distribution can not be presented graphically through :

(1) Histogram

(2) Frequency Polygon

(3) Smoothed frequency curve

(4) One dimensional bar diagram
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43.

44.

45.

46.

47.

48.

What RBI should do to control inflation in India ?
(1) To sell govt. securities and decrease bank rate
(2) To sell govt. securities and increase bank rate
(8) To buy govt. securities and decrease bank rate
(4) To buy govt. securities and increase bank rate

If the price elasticity of demand is equal to one, the value of Marginal Revenue will be
equal to :

(1) Zero

(2) One

(3) More than one
(4) Infinity

If output (Q) is equal to zero (0), then the total cost of production in the short run will be
equal to :

(1) Total variable cost
2) Total fixed cost

(2)
(3) Average fixed cost
(4) Zero 0

Demographic dividend refers to a rise in age gr@f population :
(1) 1to 14 years ®

(2) 15 to 59 years @

(3) 60 to 74 years . @

(4) above 75 years &\

Long-run equilibrium of @y competitive firm follows :

(1) P=AR=MR=L

(2) P=AR=MR= MC
3) P>MC=AR

(4) P<AR=MR >

A) Income of the consumer

B) Price of the concerned good

C) Price of related goods

D) Taste and preference of the consumer

) Only (&)

2) Only (A) and (C)
) Only (B), (C) and (D)
)  Only (A), (C) and (D)
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49.

50.

51.

52.

53.

54.

Expected impact of imposition of tariff will be :
(1) Increased price in domestic market

(2) Expand domestic production

(3) Reduced quantity consumption

(4) All of the above

According to Economic Survey 2021-22, the gross fiscal deficit of India as percentage of
GDP during 2021-22 was :

(1) 8.9
2) 95
3) 10.2
4) 125

According to Economic Survey 2021-22, India’s GDP growth rate during the Pandemic
Year 2020-21 was :

(1 -12.2%

(2) —10.8%

B —73%

4) —-65% 0

As per Provisional Estimates provided in EcondgiciSurvey 2021-22, India’s Gross Fixed

Capital Formation growth during 2020-21 @ ‘e

(1) —15.0 percent

(2) —10.8 percent

.
(3) —8.9 percent
(4)

4) —7.5 percent &
Qvided in Economic Survey 2021-22, India’s gross fixed

As per 1%t Advance Estisat
capital formation as pe % of GDP for the year 2021-22 was :

1) 226
@) 27.1
(3) 29.6
(4) 32.8

According to Economic Survey 2021-22, The Indian Economy is estimated to grow at
percent in real term in the year 2021-22.

1 7.3
) 85
3) 9.2
4) 10.3
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55. As per Economic Survey 2021-22, which of the following items contributed highest in

56.

57.

58.

59.

60.

India’s gross tax revenue in the year 2021-22 ?
(1) Corporation tax

(2) Income tax

3) GST

(4) Union excise duty

The non-debt receipts of Govt. of India include :
A) tax revenue

B) non-tax revenue

C) recovery of loan

D) disinvestment receipts

) only (A) and (B)

2) only (A), (B) and (C)
) only (A), (B) and (D)
) Al

As per Budget-Estimates 2021-22, Revenue receipts of @of India was :
(1) 15 percent of GDP

(2) 12 percent of GDP 0
(3) 8 percent of GDP
(

4) 6 percent of GDP

According to Economic Survey ZG@ch of the following Country is the top export

destination for India in 2021-22
(1) USA

(2) China \Q
(3) UAE g

(4) Bangladesh

As per Economic Survey 2021-22, Which of the following country contributes highest in

India’s Merchandise import in 2021-22 ?

(1) USA

(2) China

(3) UAE

(4) Saudi Arab

India’s external debt as at end-September 2021 was estimated :
(1) US $ 320 billion
(2)  US $ 490 billion
(3) US$ 593 billion
(4) US $ 761 billion
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61.

62.

63.

64.

65.

66.

Economics PGT(LDCE)(1 to 120)
India’s Foreign exchange reserves in end-december 2021 stood at;

(1)  US $ 633.6 billion
(2) US $ 577.0 billion
(3) US $ 480.3 billion
(4) US $526.9 billion

Which of the following items contributes most in capital formation in India ?
(1) Government Revenue Surpluses

(2) Household savings

(3) Corporate savings

(4) Public sector savings

Consumer and Producer surplus is Maximum in;
(I) Monopoly Market

(2) Perfectly Competitive Market

(3) Monopolistic Competition

(4) Oligopoly Market

Q&

If consumption functionis C =100 + %Y and hat will be the value of average

propensity to consume ?

*
(1) 0.25 (Z;
2) 075 @
(3) 0.80 e
@ N\

1 \

Who among the followi %Qst Vice-chairman of Planning Commision of India ?

(1) Manmohan Sing
(2) Montek Singu ia
(3) Amitabh Kant
(4) P.Chitambaram

Arrange the following sectors in descending order in terms of their contribution to Indian
GDP :

Agriculture
B) Service
C) Industry

1) (@A) ) ©

(B), (A), (O
3) (©, (&) (B
4)  (B), ©), (&)



Set-002 13 Economics PGT(LDCE)(1 to 120)

67.

68.

69.

70.

71.

72.

Suppose in a financial year, deficits of Govt. of India are as follows;
Gross fiscal deficit=Rs. 5,00,000 crore

Revenue deficit=Rs. 3,00,000 crore

Interest Payment=Rs. 1,20,000 crore

What will be primary deficit of the govt.?

(1) Rs. 2,00,000 crore

(2) Rs. 80,000 crore

(3) Rs. 3,80,000 crore

(4) Rs. 1,80,000 crore

Credit creation and credit control are respectively done by :
(1) Central bank and commercial banks

(2) Commercial banks and central bank

(3) Commercial banks and equity markets

(4) Central bank and equity markets

In India, income tax is generally based on;
(1) Willingness to pay principle @
(2) Benefit received principle
(3) Ability to pay principle 0
(4) All of the above 0
.
Which of the following sub-sectors o@@onﬁ‘ibutes highest in gross value added in
India ? .

(1) Construction Q
(2) Mining and quarrying

(3) Manufacturing Q‘
(

4)  Electricity, gas ar%&‘

Which of the follow s not correctly matched ?
(1) FERA-FEMA

(2) MRTP Act - Competition Act

(3) IDA - IR Code

(4) Factory Act- MGNREGA

pply

According to NFHS - 5, Total fertility rate in 2019-21 in India has come down to :
(1) 25

2 22
B 2
4) 1.5
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73. Gross enrolment ratio in higher education in India during 2019-20 was;
(1) 27.1 percent
(2) 32.3 percent
(3) 35.3 percent
(4) 37.1 percent

74. According to Ministry of Education (UDISE+) 2019-20 report, Schools having toilet for
girls are;

(1) 69.3 percent
(2) 76.5 percent
(3) 89.6 percent
(4) 96.9 percent

75. Which of the following is not correct concerning National Education Policy 2020 ?
(A) It provides Multiple entry and exit points.
B) It aims at higher vocationalisation.
) It introduced academic bank of credit in higher edugation.
D) It descourages globalisation of education.

) only (A) and (B) are correct 0
) only (B) and (C) are correct 0

3) only (A), (B) and (C) are correct
)

S
all are correct @

(1) 2014

2) 2015 { ?
3) 2017 \
(4) 2019 g

77. Workforce Participatiog Rate (WPR) is defined as;
(1) Percentage of employed person in the total labour force

(2) Percentage of employed person in the total population
(3) Percentage of employed and unemployed person in the total population
(4) Percentage of employed and unemployed person in total labour force
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Which among the following is correct ?

Set-002

78.
(A)
(B)
(1)
2)
(3)
(4)

79.

80.

81.

82.

PLFS 2019-20 shows that 90 percent of additional employment created in the
economy was informal in nature.

The organised sector employment has surpassed unorganised sector employment in
2019-20

Only (A) is correct

Only (B) is correct

Both (A) and (B) are correct
Both (A) and (B) are incorrect

Arrange these sectors in ascending order in terms of their contribution in total employment
in India during 2019-20.

(A)
(B)
©)
(D)

(1)
2

~ A~~~
W

—

(
(1)
()
(
(

W N

)
)

i~

Agriculture

Manufacturing

Trade, hotel and restaurants

Transport, Storage and Communication

Choose the correct option.
(B), (D), (©), (A) @
D), (B), (A), (C 0

( ) (A), (©)
(D), (B), (), (A)
(B), (D), (A), (©) 0

&

2019-21) ?

Which of the following states ha@@lnf&mt Mortality Rate as per NHFS -5

.
Bihar K\
Uttar Pradesh

Madhya Pradesh Q
Jharkhand

Which of the followihg”statements is/are correct ?

(A)

=

~ A~~~ —~
WL N -

=~
N N N’ N

Latest NFHS -5 (2019-21) shows that among Major states except for Bihar,
Uttar Pradesh and Jharkand, Total Fertiliy Rate has come down below replacement
level.

Bihar has Low fertility rate compared to Jharkhand and Uttar Pradesh.

Both (A
Both (A
Only (

Only (

) and (B) are correct
)

A) is correct

and (B) are incorrect

B) is correct

In 1991 economic crisis, India received credit from which of the following international
organisation ?

(1)

World Bank

IMF

Federal Reserve

Asian Development Bank



83.

84.

85.

86.

87.

88.
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Green Revolution in India is related to production of

(1)  Wheat
(2) Pulses
(3) Oilseed
(4) Corn

Which is correct statement regarding India’s economic crisis of 1991 ?

(A) Excessive government expenditure of late 1980s believed to be one of the reasons of
the crisis.

(B) India’s foreign exchange reserves declined to a level that was not adequate to finance
more than two weeks of imports.

(1) Only (A) is correct

(2) Only (B) is correct

(3) Both (A) and (B) are correct
(4) Both (A) and (B) are incorrect

Which of the following organisation regulates financial s in India ?
(1) Ministry of Finance

(2) Prime Minister office 0
(3) Reserve Bank of India 0
(4) NITI Aayog

&

The Period of seventh five year plan i @as :
(1) 1980-85
2)  1985-90

2
) \
3) 1992-97 &
(4)  1997-2002 5\9

“Growth with SOCiQtI nd Equity” was emphasized on which five year plan ?

(1) Sixth
(2) Seventh
(3) Eighth
(4) Ninth

Planning Commission of India was established on the recommendation of an advisory
planning board, who was the chairman of that board ?

(1) Jawaharlal Nehru
(2) S.C. Bose

(3) K.C. Neogy

(4) MK Gandhi



89.

90.

91.

92.

93.

94.
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NABARD was established in the year

(1) 1978
(2) 1982
(3) 1985
(4) 1992

What is the full form of UDAN scheme ?

(1) Urban Domestic Aviation Network

(2)  Union Defence Aviation Network

(3) Ude Desh Ka Aam Naagrik

(4) Union Development and Network Mission

World Bank was known as :

(1) International Bank of Reconstruction and Development
(2) International Bank of Finance and Money

(3) International Bank of Finance and Reconstruction

(4) International Bank of Development and Finance

Which of the following is incorrect ? 0@

(1) GNP=NNP — Depreciation

(2) GNP=GDP + Net factor income from abr
(3) GDP =NDP + Depreciation ¢
(4) Per capita income = NNP/Total on

.
Which of the following price is /ﬁ\( d by the Union government in India ?

(A) Maximum Retail Price

(B) Minimum Support

(C) Fair and Remune

Choose the correct m below
(1) Only (B)

(2) Only (B) and (C)

(3) Only (A) and (B)

(4) Only (A) and (C)

Match List - I and List - IL.

List - I List - II
(A) BSE (i) Agri-Commodity Exchange
(B) NSE (i) SENSEX
(C) NCDEX (i) Multi-Commodity Exchange
(D) MCX (iv) NIFTY
Choose the correct answer from the code below;
(1) (A)Gi), (B)-(i), (CO)-(iv), (D)-(i
(2) i
€))
(4)
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95.

96.

97.

98.

99.

Which of the following statements is/are correct ?
(A) GDP is essentially about who produces.

(B) GNP is essentially about where production takes place.
(1) Both (A) and (B) are correct

(2) Both (A) and (B) are incorrect

(3) Only (A) is correct

(4) Only (B) is correct

Which one is incorrect ?

(A) Labour force=Work force + Unemployed
(B) Labour force=Work force — Unemployed
(C) Unemployed = Labour force —Work force
Choose the correct answer from below :

(1) Only (A)

(2) Only (B)

(3) Only ()

(4) Only (A) and (C)

Which of the following is/are the external causes o@tstrial sickness ?
A) Infrastructural bottleneck

B) Recession in the Market @ o

C) Government Policies

) only (A) . 6\
) only (B) .&\

3) only (A) and (B)
) (A), (B) and () ’\Q

Which of the foll@ te in India was chosen as the initiation site for Green

(
(
(
1
(
(
(

i~

Revolution ?
(I) West Bengal

(2) Punjab
(3) Jammu & Kashmir
(4) Tamil Nadu

The term “‘Evergreen Revolution” was used for increasing agricultural production in India
by .

(1) Amartya Sen

(2) VKRV Rao

(3) Ch.Charan Singh

(4) M.S. Swaminathan
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100.

101.

102.

103.

104.

As per third advance estimates released by Ministry of Agriculture, Foodgrain production
in India during 2021-22 is :

(1) 257.6 Million tonnes
(2) 297.3 Million tonnes
(3) 314.5 Million tonnes
(4) 363.7 Million tonnes

Which of the following statements is/are correct ?

(A) ‘Jobless growth’ is a phenomenon where GDP of an economy increases without
perceptible increase in employment.

(B) ‘Jobless growth’ could lead to reduction in employment elasticity.
(1) Only (A) is correct

(2) Only (B) is correct

(3) Both (A) and (B) are correct

(4) Both (A) and (B) are incorrect

Which of the following statements is/are correct ?

(A) Recently India’s trade to GDP ratio declined due rease in imports.
(B) Services are not included while calculating tr DP ratio.
(1) Only (A) is correct 0

(2) Only (B) is correct °

(3) Both (A) and (B) are correct @

(4) )

(
Both (A) and (B) are incorrect @

Due to recession in an econ@amW, an employed person lost his/her job and became

unemployed. Which type aployment is this ?

(1) Cyclical

(2) Seasonal g
(3) Structural Q

(

4)  Frictional

A relationship between tax rate and corresponding tax revenue generated by the govt. is
explained by

(1) Indifference Curve
(2) Phillips Curve

(3) Laffer Curve

(4) Lorenz Curve
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105.

106.

107.

108.

109.

110.

Which of the following statement is/are correct ?
(A) Human Development Report is published annually by UNDP since 1990.
(B) India’s Score and Rank dropped in 2021 compared to 2020 in Human Development

Index.
(1) Only (A) is correct
(2) Only (B) is correct
(3) Both (A) and (B) are correct
(4) Both (A) and (B) are incorrect

The term “Two Pillar Solution’, which recently seen in news, is associated with
(1) Global Minimun Corporate Tax

(2) India’s Balance of Trade

(8) Goods and Services Tax

(4) Minimum Support Price

Which of the following step/action by the govt. is pro-cyclical Fiscal Policy during

recession ?
(1) Increase in government expenditure @
(2) Increase in tax rate 0
(3) Direct cash transfer to citizen
(4) Bail-out Packages to corporates

.
Which of the following indicator is nQ Global Hunger Index ?
(1) Child Mortality
2) Maternal Mortality

.
) K\
(3) Child Wasting
(4) Undernourishmen \Q

If Minimum wage @ e government is higher than the market price of labour, it
may lead to :

(1) Increase in unemployment

(2) Decrease in unemployment
(3) No effect on unemployment
(4) Industry will demand more worker

‘Kuznets Curve’ shows the relationship between

(1) Inflation and unemployment

(2) Income inequality and unemployment

(3) Income inequality and economic development
(4) Unemployment and Poverty
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111. Role of Fiscal and Monetary Measures to provide economic stability was emphasized by

112.

113.

J.M. Keynes
T.R. Malthus
Alfred Marshal

India
China
Pakistan
Bangladesh

Which of the following Committee had suggested govi@a to replace income tax act

with a new direct tax code ?

114.

Justice Katzu Committee

O
o

Justice R.V. Easwar Committee
Akhilesh Ranjan Committee
Raghuram Rajan Committee

=
Which of the following group Q\ian states have sex ratio lower than the National

average as per census 2011 ?

(1)

115.

Maharashtra, Madh@esh Gujarat
Jharkhand, Guja est Bengal

, West Bengal
adhya Pradesh

Which of the following states have lower population density (per square kilometer) than

the national average as per census 2011 ?

(1)
()
()
4)

116.

Jharkhand, Maharashtra, Rajasthan
UP, MP, Gujarat

Orissa, Rajasthan, Gujarat

West Bengal, Maharashtra, UP

Which of the following state has literacy rate less than national average as per census

2011 ?

Maharashtra
Tamil Nadu
West Bengal
Rajasthan
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117. Who among the following popularised the term ‘Hindu Rate of Growth” ?

(1)

VKRV Rao
Amartya Sen
Suresh Tendulkar
Raj Krishna

118. China started its economic reforms in the year

(1)

1958
1968
1978
1988

119. Which of the following statement is correct ?

(1)

Fertility rate in India is higher than that of Pakisthan.
Fertility rate in India is higher than that of China.

Fertility rate in China is lower than that of Pakisthan.
Fertility rate in Bangladesh is higher than that of Paligthan.

120. Which of the following statement is/are correct ?

(A)

India’s trade deficit with China in 2021-2 S $ 72.9 billion, which is higher
compared to 2020-21.

India had a trade surplus of US $ 14@01& Bangladesh during 2021-22.

Only (A) is correct
Only (B) is correct ‘\

Both and (B) are Corre%
and (B) ar C

(
Both (A @
O
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1. frefafed 8§ @ @0 @@ a8 872

(A) TH =g 9 &ifam ST & fore samn T @ 99 S 3cred ki fRel SR staeen § @
TR 8 Y 3ifq g el ST ¥ |

(B) I8 o] 1 YohTd A SAfaw o e ¥ R Wk Mok WA R Wehf % ROl 7€ Uk e
Sif o9 St ©

) A (A) TE ®

2) %ed (B) T ©
) (A)TE (B) THI W& §
) (A) T (B) ST Terd €

2. frefafed § 9 & 978 9@ €2

(A) TAE H T T Fafy o SRE IR foren s § Siafer Rk ol T ffvea 999 ™
R fomam S €1

(B) T, Wi H IRad &I Tk w9 s1afy § 7191 e g |

() T (B) 3 ) @

(1)

2) (A)TE (B) THI Terd € 0
3) ()
) *

FHae (A) T R
o (B) T F 1 Q)

3. frefefed § BF WA o T 2 5 Frdre & sifera 7
(A) T2 Hhdt a9 T s I T
(B) UE Tehdl fowr wd 3R ¥

A (A) Tl

(A) T (B) T W €

Fad (B) W& ¥

(A) TE (B) S T §

1
2
3

(
(
(
(4

)
)
)
)

4. AIYA & Gerud, Fefafed § @ SF v w@ g2

(A) TeHEE T ST o] o St ge-Fe o W T
(B) U 3Th{eeh TS Wihfaeh fauersti & R Yeiird awq § eRawifas Ta 3T g el
T 1 A Tl Bl 8 |

(1) Had (A) T &
(2) o (B) TE ¥
(3)
(4)

(A) TS (B) T W& §
(A) & (B) ST TTerd €



Set-002 2 Economics PGT (LDCE)(1 to 120)
5. frAfafed § & $9 /8 w97 @& © 2

(A)  srefemes |, for foent g8 TfHa wd stel-fafia aegeii 1 Wi S T &H T a6 9 31Tl o
AR S § ST MUER (inventory ) FHal ST |
(B) UeR H URad™ Ueh WaTg STaHRON § Fiifch I8 Tk 99 o SRIA Teh HH o Scde T forsht

T AR
1) (A) TS (B) IHI T §
(2) (A)TE (B) Sl e €
(3) e (A) T
(4) ot (B) TE ¥

6. afc aifed ST ST 20% € T Sk 1 TR SN 200 T € A H&T T[Ulih 1 Jod 1 2T 2

1 2
2) 2.5
3) 4
4 5

Q&

7. ﬁwﬁf@aﬁﬁﬁﬂﬂmﬁﬂaﬁmawﬁﬁmiﬁﬁ&ﬁﬁﬁam%?
(1) s d&

e St Q)’

9. f&¥ T IWIM B C=a+bY H, bFNT?
(1) U9t =t Her ggfd
(2) S=d i HH To
(@) T =t g9 wgfa
4) (1T @)
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10.

11.

12.

13.

14.

Frefafea e w1 af@ steforaen § Gqer &1 g e

Y
) Y

<

b AE

)

< o

45 X
GDP

frfafad § & &F 1 AE 9% &t g ¢ 2
1) &I

(2) 9NN & W 9gfa (MPC)

(3) 1-MPC

(4) HEE

Ffg 39T e C=100+0.7 YA T, ﬁéQTI:zoomam%th:o.zY%;aﬁﬁamWw

(;) zS ((10)) 00

%mewﬁwi@ﬁmmwm%@mmﬁww

T ST U o I I gRI ST Hed @R faf i 7o & e o= 3 et stefeneh & 2
(1) el T
(2) TeH fHy
(@) sfae Rered
(4) ATheS AR

ShiTa e st w@ned=fed (Predatory) ifd ffe faw amE st & 2
) AT SR H Fow 7 Wieafed s o faw |

2) AW AN W 3G U H o e
)
)

gfgaf=i =l e 9 9l e & fau)
Y 2AfereRay A & faw)
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15.

16.

17.

18.

19.

T Tt S 1 <refehifer emafd ask &fas &t S/ = el S § 2

(1) & AT S

(2) R arE @

(3) BIEHH AN 3T

(4) S JET

ST H TR TS Tehiaehiiien Fiaeast 1 sTaensli § f=fafed o 9 &F o1 Wer 8 2
(1) A THd AN & 9 2l S |

(2) HIHd HH SR % GHH B S |

(3) HIHd HHT AN % THH 2T S |

(4) T HER ST Afae g 7

= feu T e | v uRadq & R, HIFd W& ABH AB @ ST § 3R Ui w1 Haer
forg S A R fog W ugw a1 €1 39 fearfa § X a%g & dee & 91 Wl 2

Y

A O

. O
E 5 @Q)
2
O B B' X

o O
(1) X7 fpe o%g &1
(2) X T HHEH
(3) X Tk A
(4) X Teh T2 9%

UTel ok Ueh a%g sl AT ao % o Helel Rl g9
) TAMOS 9% S hIAd

) I 9% A

3)  IUHIKI i 3™

) %] i T HIH

IfE T 6t S e B H (+)1 8, T a=q

(1) TH T Y Heifer & it

(2) fireet oreqd &t
(3) T e

(4)  TIETIS B
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20.

21.

22.

23.

24.

Teh AT G5 & ®9 § STCUhR oo H Gqer (a3 ‘ faskaa a9t o fea srefumsdt
ERURIRRIECRERIKIRIN

(1) TeH =

(2) T ESt

@) <fae Rl

(4) T EA

T TRV SAfTREed (Hyperbola) R ok i fearfd &; 97 o6t Hiwd @ 1 9o 3741 BT 2
(1) 3Td o R

(2) I H TR

(3) THE h TR

(4) W H 9 HE T

AT AT o5k Teh TH ol Ifd ok off B ©

(1) THIHHR IR | @

(2) STEUIYHR IR o 0

() Tgerfusr som o

(4) qoI yfqarh s | Q)’

Ifg TG X Tk WM %] © IR 9% T T A SAAME ok h AR 1 T 2

(1) T foig FF iR S K\

(2) X 3% % GAMRR 9t
(3) Y & % AN
(4) L TR i Q

et 1 @ Gt 11 1 e &Y 3R = fu e e # 9 9l ST &1 A |

eIt 1 T 11
(A) ot gfaenfiran () gfd =k =1 1
(B) THIYHR (i) HI o o TR e
(C) THIfHehIeR FfAAIfTl (i) & 1 379 ISTANT
(D)  3TCUIhR (iv) TSI wiferd o1 37918
Eac
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25. Afg Gqfera wiga sifuean fuifa S wiva @ oifies & o IR H g9t 91 991a g 2

(1) = i

(2) I st
(3) W I HH
(4) U H 9 HE T

26. T g5k ol TAMR TGHHE 9l & :
(1) = ¥ gfs
(2) Ha H wH
3) hd fer wdt €
(4) 9 enferer

27. ¥d 9&d Yfawd o FEAER, S 3c1s =kl TR 81T
(1) U &R &
(2) 3 U 3THR H @
(3) = T IR e gl 0
(4) TR I AR T 3T
L
28. & Teft T H ST gfg & I H gfg 2t T 1 S He S ©
(1) TR feer wfawe ‘\
(2) ErE w1 feer gfdwd K
(3) THM 1 Fean Hfawa Q
(4)

4 ﬁnﬁwmqﬁQ

29. 3TUHTA & TRH, . STd AT Td 37 aRedaeie ArT % SeR g S
(1) 3ired o sifeeram et
(2) iEd arTa T id aRad-eiel dnTd <Aad et
(3) ATEd YREdeNd @NTd SIfHehad gl
4) () @) <

30. <rHRIelA Hd @M (LRAC) 95k i =<[Aaw farg <orfdr €
(1) T9M &1 Sgal gfawa
YA 1 w2l giawa
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31.

32.

33.

34.

35.

ST g AU HEd AN (SAC) dsh 1 Tl © 2
(1) SMCSAC¥ %8 g

(2) SMC SAC & 9qH ©

(3) SMC SAC ¥ =ifye

(4) SMC SAC ! guifaa =&l et ©

T T TREd T ST JTE FiroT gorg § S1fass 2 At U o i HiT SEh! hiAd 9
fra yohR Trafeerd 2 ?

(1) OISR
(2) AT

(3) TR

(4) P G A&

frfafeaa 8 @ =0 @1 wforde i ==l €2

(1) sofida wes @
(2) ISR

(3)  SRIMUEE HIeA (')0

(4) oA sfepfordita wiea

Frefafead # € S 91 9T Tede e S a0l Tl § 7
(1) S T o)

(2) T o K KA T AT

(3) WReTier e wd St i sRgstl 7 ==

(4) T o A HIEd T L
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36. oTHTSd 3Mihs o faIT et fooREs & Teds Tl &1 T I ¥ :

1 r= =Y
x+y

2 y-_=Y
N(x + y)

2xy

3 Y=
©) N. oxoy

4 y-_ v
N(x—-y)

37. gohich T YT fohann S €
(A) T HAIHIA & SR Hhivd TR H gRad o 7 & ferg)
(B) Weh =R ! Tl i F01 (Degree of freedom) 3l HIHH & faw |
(C) WY i Sifeerdr sl T IR0 W& § <9Il € |
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1= 9 W& ST R =T B (')

38. fr=fafad § 9 =9 f T 8?2

39. U W& gR WA SAlhel U 01 Sihe & s g1 7R hiar & 2
(A) T T Gehid To foao Feet 9w
(B) forita HHIEH w1 SuTedl
(C) WHIA whi ITARIAI
(D) aifsa FfediTan 1 Soft
== fou Tu foeredl ¥ 9 @& W gHT|
(1) o (A) 3R (B)
(2) FaA (A) I (C)
(3) &= (B), (C) 3 (D)
(4) |f (A), (B), (O) ¥R (D)
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40. Tr=fafea § 4 wafhes e gueo =t fafumi §

(A)  FcH&] TR HI&ThK

(B) H&TehRehdl § oI

(C) uftra e fafy

(D) USehRdl o HILAH 9§ S 7T g
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(3) ST A

(4) hOR (A) TS (D)

41. geit 1w Gt 1 1 e s w9 8 7 e | |9t S| 9 -

el 1 T 11
(TSRS o STTIRTUT oh WehTY ) (ameR )

PRy
N -
Too
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(3) YeTEl AT sk
(4) TH AT 9R W@
43. YRA H YEREHITA HH & & fole aRdr e e 61 @1 e =fen ?
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2) R wfayfaar = ik S T H 3fs
(3) TN fayfaar Tie R o ) & HH
(4) TN yfayfaar sdie o) d@ X ¥ 3fg
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44. A A H BT AT SHE F SRR §, @ HH ST H oo

(1) 3 % SRR ST
TS o S&R B

45. IR IAOEH (Q) o &R YA T, Tl TeThAl H UG Sl Hel AN
(1) F GRER-RIA AN & 9 S
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(4) IS FEE M
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4
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(B) 39 &% hl whiAd
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)

—
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(3) e (B), (O
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N
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50.

51.

52.

53.

54.

55.

3TITeR FelaToT 2021-22 o STIER, S.SLHT. & FTaed o €9 H 2021-22 H XA 61 Tl TSI
1T TR 1 @12

1) 8.9
2) 95
3) 10.2
4) 125

3Tk TeeTor 2021-22 % STTIR FTHRT 98 2020-21 % SRM WRA 1 <€, gfg < oft .

1) -12.2%
@) -10.8%
B) —7.3%
4) —6.5%

aTfefer Teleror 2021-22 H T3 T WfaeHer i & STHER, 99 2020-21 % SR 9Rd H et
feer Ot frmifor  gfg e @i 2

(1) —15.0 gfeerd
2) —10.8 gfaerd 0@

)
(3) —8.9 gfdsrd
(4)

4) —7.5 yfawd

*
amfefer Teleror 2021-22 H fed T gom e & 3TIER, I9 2021-22 % SNH 9Rd | el
feeR gt frmior &6t XSS, @1?

(1) 22.6 K\
2) 271

3) 29.6 S&

4) 328 g

sTfefeh |AU 2021-22 &% STHER, d9 2021-22 % IRM ARG Adaed *1 Jradfas ghg
mﬁﬁ%

(1) 7.3 gfderd
(2) 8.5 gfaerd
(3) 9.2 faerd
(4) 10.3 gfeerd

sTfefeh T 2021-22 % SATIR, T8 2021-22 F IR FAfafgd § § &F 91 7S H 9RA &
Hhet X Tored | Haites e ez ?

(1) Trmm ==
(2) 3T W
(@) SituEd
(4)

shi=d 3G Y[ooh
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56.

57.

58.

59.

60.

IRA THR & TR-H0 Wil § afvferd
(A) IS

(B) TR-T T5

(C) RUT i a9

(D) fafterer wiftqar

%A (A) Td (B)
% (A), (B) T (C)
%9 (A), (B) T (D)
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Td 2021-22 T TS SR F STIER, YRA TIHR ht i T off
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2) SitELd. ot 12 gfaea
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) SELHL sl 6 Hfder 0

amfefer TaAeTor 2021-22 % TER, 99 2021-22 %ﬂ%ﬁﬁﬁqwéﬂﬁ IR = ol
fuer Trrafa fean ? Q)’

(1) SR @

2 = 2

3) 3ug &\

4) FERY 5&

anfefer Teeror 2021 9y 2021-22 % A frefafed § 9 feg <w & oy @
oty aegsii a1 fepan 2

(1) sHRE

() =M

@) Iui
(4) WRE R

fadsR 2021 & 370 § YR A1 91e K0T AThferd foran T
1) 320 fafeem st SR

(1)

(2) 490 fafeaa sfet Ser
(3) 593 fafe=m sHReR SR
4) 761 fafeaa st Ser
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67.

68.

69.

70.

71.

72.

T for U fafaa ad # wRd SRR & =el 1 TR 39 TR € ¢
Tohel TSI He =5,00,000 UG T4

TG =T =3,00,000 S A

S YT =1,20,000 A €9 1

TIEHR T YA =TT 1 20T 2
(1)  2,00,000 FHIS FIA

(2) 80,000 FIS TH

(3)  3,80,000 FHIS FTIA

(4)  1,80,000 FHIS FTIA

wrg fmio e T s A feme S g
1) =3 % Td A S & g

2) EHIgE Sl U@ Hiwd g6 gR

3) IS Sl Td wfayfd ami gr

)

4) onfza o Td gfayfa IS g @
O

YRd § 379 X 9= Tord 9T emrenfid & 2

(
(
(
(

(1) LA 0 5287 1 Fagr= °
(2) @Y i w1 fagT Q)
(3) hIST &l i TG . @

(4) W H g Tt K

frafafea & & & s&a, SU-&7 YA & el Jod g | Faitdeh e ol © 2
(1) i Q

(2) @ T gs

@) fafmio

(4)

frfafea § @ =F o @& fiam 7= €2
(1) FERA-FEMA

(2) MRTP Act - Competition Act
(3) IDA - IR Code

(4) Factory Act - MGNREGA

NFHS - 5 % TaR; 99 2019-21 H 9Rd & oA Joi X Feahl & TE ¢ :
1) 25

Q) 22
G) 2
4) 1.5
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73.

74.

75.

76.

77.

2019-20 % SR ¥RA § 3= e H weher iR < ot
(1) 27.1 9w

(2) 323 gfeerd

(3) 35.3 gfeerd

(4) 37.1 gfeerd

frenm @@ (UDISE+) RAR o S19R 2019-20 H o gfaera foemeri # arsfeal o fag
YT i giaen § 2

(1)  69.3 gfqerd

(2) 76.5 gfderd

(3)  89.6 Ufderd

(4) 96.9 gfeerd

frfafeaa 8 9 < i fen ifa 2020 F def # &t 72 §2
(A) % T TS TR ¥ e S 3 ¥ 6\
(B) THHI LY ATUHTH AHIAA HEAT T |

(C) ug 3 e § sTeiefies S 3ifh shfee @y

(D) a1 fren o Af¥eehtor o1 alcaTied S

(1) W(A)@(B T

) B) Td (O) aﬁr %| ‘

3) ), (B) W (C

(4) mﬂ G‘é gl \

IV IR e o T ?
(1) 2014

(2) 2015

(3) 2017

(4) 2019

et el <X o aitTia foman S @

(1) Fa g9 9 H | HreRa Al a1 g
(2) Fa SHEA | § HERA Al o gfaed
(3) P SHEEA H ¥ HRRd T SSTR SAfedl 1 gfasa
(4) FA g9 9 H 9 HRERA T SUSHIR Al s gfaerd
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